Spring 2012 Exam #3 Key Math 362

1. Short Answer: (5 Points Each): Answer all of the following.

(a) Define countably infinite. — A set A is countably infinite if it can be put into a one-to-one correspondence
with a subset of the natural numbers.

(b) Define a partial Turing computable function. — This is a function f such that there exists a Turing
machine M with M (w) = f(w) if w € Dom(f) and M(w) 1 if w & Dom(f).

(c) Define a decidable language. — This is a language L such that there exists a Turing machine with
Mw)=1ifweLand M(w)=0if w ¢ L.

(d) Define a Turing enumerable language. — This is the same as a semi-decidable language. That is, there

exists a Turing machine with M(w) =1 if w € L and M (w) T if w & L.
(e) State the Church-Turing thesis. — The Church-Turing thesis states that every computer algorithm can
be implemented as a Turing machine.
2. Determinism: (25 Points) Show that the language L = {wcw® | w € {a,b}*} is deterministic context-free.

Solution: Using f as the favorable state we have the following transitions.
((s,a,€),(s,a))

s,b,e),(s,b))

s’ C’ e>7 (q7 e))

3. Turing Machines: (25 Points Each)

(a) Write a complete set of transitions for a Turing Machine that semidecides the language L = {wew® | w €
{a,b}"}.

Solution: Let h be the only halting state.

((S’a)v(qavu)) ((daaa)a(gaﬁ_)) ((nb’a)’(tvl—l)) ((w7a)7(t7a))
((S’b)v(Qbal—l)) ((daab)a(gm(_)) ((nbzb)v(dbvl—l)) ((va)7(t’b))
((s,¢0), (z,—)) ((da; ), (gas <)) ((ns, c), (t,1)) ((z,0),(t,0))
((s,1), (£, 1)) ((da, W), (gas ¢)) ((np, 1), (¢, 1)) ((z, 1), (b, 1))
((s,2), (s,—)) ((da;>), (da; —)) ((no,>), (t, =) ((z,p), (t,—))
((qaaa)7(ma’_>)) ((gaaa)v(ga#_)) ((dbaa)7(9b7<_))

((4a,b), (Mma, —)) ((9a>b), (90, <)) ((dp, b), (gb,+))

((qa,c),(ma,%)) ((ga,c),( a,(—)) ((db’c)v(gbv%))

((qaal—l)’(mm_))) ((ga,U),(S,—ﬁ) ((dbau)»(gbﬁ_))

((QGaD 7(ma7_>)) ((9@;9)7(9117_))) ((dbab)7<db’_>))

((maaa)7(maa—>)) ((vaa)’(mbv—») ((gb,a),(gb,<—))

((maab)7(mavﬁ>)) ((qbvb)v(mhﬁ)) ((gbvb)7(gb7(7))

((ma, ), (Ma, —)) ((qv, ¢), (mp, —)) ((gb5 ), (gb, <))

((ma,l_l),(na,<—)) ((qbal—l)7(mbv_>)) ((gb7l_l),(s,—>))

((ma’DL(mav_))) ((Qb7>)7(mb7_>>) ((gb7[>>7(gb7_>))

((nava)v(daal—l)) ((mbaa)v(mbv—))) ((t,&),(t,(—))

((na,b), (t,1)) ((my, b), (my, —)) ((£,0), (t,4-))

((na,c), (t,1)) ((my, c), (my, —)) ((t,¢), (t, =)

((na7|—|)7(t7|—|)) ((mbvl—l)7(nb7<_)) ((tvl—l)7(t7<_))

((navb)’(t7_>» ((mbv>>7(mb’_>)) ((t’D)7(t7_>))




(b) Using the primitives R, L, Ry, Ly, Ro, Lo, Ry, Ly, Rs, Ls, Ro, Lo, Ry, L1, R67 Lf)a RL Lia Ry, La, Ra,

La, Ry, Ly, Ry, Lz, Shi, Shr, A (add one), and S (subtract one) construct a Turing machine (in diagram
form) that takes a word w € {a,b}* and outputs the number of ¢’s in binary form. For example, an input
of pbbbbabbaaba produces >100.
The Turing machine A (add one) will add one to a number string given that the read/write head is on the
space after the number and it returns the read/write head to the space after the number before it halts.
The Turing machine S (subtract one) will subtract one from a number string given that the read/write
head is on the space after the number and it returns the read/write head to the space after the number
before it halts.

Solution:
a

O

(I_IRRL,RQRL,ALDRRD>

R,ROL

4. Infinity: (10 Points): Prove that the cardinality of the power set of a set A, P(A), is strictly greater than
the cardinality of A.

Solution: Since there is an injection g : A — P(A) deffined by g(a) = {a} we have |A] < |P(A)|. By way
of contradiction assume that |A| = |P(A4)|, then there exists a bijection f : A — P(A). Consider the set
A'={acA|la¢ f(a)}. Since A’ € P(A) there exists a’ € A with f(a’) = A’. Now either a’ € A" or o/ ¢ A'.
If o’ € A’ then by the deffinition of A, o/ & f(a’) = A’, a contradiction. If a’ ¢ A’ then again by the deffinition
of A, a’ € f(a') = A’, a contradiction. Thus no bijection f exists and |A| < |P(A)].



